(3
&g Real Life Maths Questions

Remember to:

) e

| can solve any 3d + 3d as money

* add the pounds
* add the tens

* add the pence
* add the totals

(1)
What is £7.56 add £5.62?
2)
Pom has £9.21 and his friend gives him £2.66 more. How much
does Pom have?
3
Speedy Col has £5.35. Pom has £9.41. How much do they have
altogether?
om bought a toy for £8.16 and headphones for £9.41. How
2)  pom bough for £8.16 and headphones for £9.41. H
much did he spend?
(5) Pim has £5.79 in his bank. He adds £9.82 more. How much
money is in his bank?
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Bng Real Life Maths Answers
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| can solve any 3d + 3d as money

Remember to:
* add the pounds
* add the tens
* add the pence
* add the totals

(1)
What is £7.56 add £5.62?
The answer is £13.18.
2)
Pom has £9.21 and his friend gives him £2.66 more. How much
does Pom have?
Pom has £11.87.
3
Speedy Col has £5.35. Pom has £9.41. How much do they have
altogether?
They have £14.76 altogether.
[4) Pom bought a toy for £8.16 and headphones for £9.41. How
much did he spend?
He spent £17.57.
(5) Pim has £5.79 in his bank. He adds £9.82 more. How much
money is in his bank?
There is £15.61 in his bank.
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